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(X,Y) = B[X - BX)|[Y - B(Y)]
Cov(X, Y) = E[XY] - E[X]E|Y]
Cov(aX, bY) = abCov(X, Y)

Cov(X, Y)? < Var(X)Var(Y)
Cov(X+a,Y)=Cov(X,Y)

Cov(a1 X1+ a2 X2, Y) =a1Cov(X,Y) + asCov(Xs, Y)
’U(CLX +b, Y +d) =acCov(X,Y)

ow(X+Y, X-Y)=Var(X) —Var(Y)

ar(X +Y)=Var(X)+ Var(Y) 4+ 2Cov(X,Y)

Cov [Zi:l(aiXi +b;), ZT=1(CJ'YJ' + dj)} =i ZT:l aia;Cov(X;, Yj)
i Z?:l Cov(X;, X;) =32, Var(X;) + 307, E?yﬁi Cov(X;, X;)
Cov(X,Y) =/(Var(X)\/(Var(Y)Corr(X, Y)

COU(Z?:l Xi, Z?:l Xj) = VC”“(E?:1 Xi)

Var (3252, Xi) = 200, Var(Xy) +23° 370 Cou(X;, Xj)
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